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General Instructions:
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3, Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 54/ ASS /4-A on the Answer-Book.

5. (@)  TheQuestion Paper is in English/ Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/ mistakes in understanding the question will be yours only.
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Note : (i)  All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is most appropriate. Select the correct answer
among the four alternatives and write it in your answer-book against the
number of the question. No extra time is allotted for attempting
multiple-choice questions.

frdor: () it I % SW ST
(i) T Y9 & GHA ITF i T e ¥
(i) W HEA1 Y10 TF F TS Y F 91 faEweT - (A), (B), (C) 7 (D) ¥, oA
QU 3G ¢ | =R fawedl ¥ @ 9@ I g qur o Sw-gfi # e He
F 9ma I fad | ag-faswedt weai & foru sifaftea 9o =@ fean smom

1.  The proportion of its total deposits that a commercial bank is required to keep with 1
Reserve Bank of India is called

(A) Statutory liquidity ratio
(B) Deposit ratio

(C) Cash Reserve ratio

(D) Legal Reserve ratio

Tl THISA 1 T8 AT N Fiforfeas A ) ford S & qrE = vEd € ) |
(A) Benfies T ST Fed €

(B) STT ST FEA €

(C) fém Tl T

(D) 3w W I
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2. Which of the following is a government’s revenue receipt ? 1
(A) Borrowings
(B) Resale of shares of public sector undertaking
(C) Recovery of loans
(D) Taxes

frfafaa 8§ SA-d S T Wit &2
(A) =U

(B) TSI &7 % IuHI & A9 w1 o
(C) il =1 et

(D) =X

3. Intermediate goods are : 1
(A) purchased by consumers
(B) non-durable goods
(C) included in calculation of national income
(D) purchased by both consumers and producers

e aE 1

(A) SusERT Tled €

(B) Tr-feohrs oequ Bt €

(C) T oI/ T MU H wfHS T St €
(D) 39T SR IR S GRT BT S &

4.  Net indirect taxes is the difference between : 1
(A) Indirect taxes and direct taxes
(B) Indirect taxes and subsidies
(C) Tax revenue and non-tax revenue
(D) Tax revenue and subsidies

faa (gs) vy = |

(A) STHEE FT IR T FI HT =R a1 &
(B) eTweae X AR anfder werFan 1 1= B €
(C) o TS IR TR-FX o 1 1= 2l ©
(D) R T iR 7ol Hemar o1 = el §

w
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5. Marginal revenue and average revenue are equal under ; 1

(A) perfect competition (B) monopolistic competition
(C) monopoly (D) oligopoly
e e @i sfree s SR A
(A) ot wfeEifTa & st (B) USITUeTIcH WiaafiTal & SF=wid
(C) @Ifw%ﬁfa (D) sreafEsR & sF=ia
6. Average cost will rise only when . 1

(A) marginal cost rises

(B) marginal cost is greater than average cost
(C) marginal cost is constant

(D) marginal cost falls

3ired @ Fae 99 seT S |

(A) T Er S

(B) Hrra wmTa 3irea @ | e gt

(C) Hrra wwTa feer gt

(D) Hrar amT et

7.  Which of the following is not a determinant of supply of a commodity ? 1
(A) price of the commodity (B) income of its buyers
(C) prices of inputs (D) taxes by the government
frafafaa § @ -1 7%g 1 3yl =1 Frafer & 82
(A) T HI HrEd (B) THH sl 1 3
(C) AT I e (D) ¥R BRI &
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8.  Any point on an indifference curve shows : 1

(A) ratio of prices (B) marginal rate of substitution
(C) income of the buyer (D) consumer’s equilibrium
T o5 T fawg quriar & -
(A) F T ST (B) e it
(C) hal F A (D) U e
9. Labour intensive technique of production means : 1

(A) Use of only labour in production
(B) Use of more labour and less capital in production
(C) Labour owns production units

(D) Production only for labourers
ITE i FH T T 61 3§

(A) IRA ® HaA FH FH ST

(B) e ® YSit t T0en 47 &1 Afrw swdm
(C) A ThTedl W g 1 @t

(D) &= gfveht % fore s

10. The difference between the largest and smallest value in a distribution is called 1

(A) quartile deviation (B) standard deviation
(C) range (D) mode
frft i g H e oS iR TeA SR @ F oA |
(A) wgde foraem Fead € (B) M fawem #ed €
(C) fo=mwed ¥ (D) 9gEF Fed &
11. Explain any three properties of correlation coefficient. | 3

TEEaY TN HI [FET a1 (aRIuast i ST HITe |
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12.  Why should all resources must be utilized ? Explain. 3

Fi @t TeE F1IIE B ? THEE |

13. What is meant by growth of resources ? Explain. : 3

T it Wy = 7 o A &2 wwemsw )

14. Give two reasons for the inverse relation between price of a commodity and its quantity 3
demanded.

F T F Ha iR 35F WA H fquia g & S R FaEt |

15. Give three reasons for a righthand shift of demand curve. 3

T &5k % Brdl AR fagws & 99 FRo TaRg |

16. Explain the meaning of elasticity of supply. Also explain any one method of measuring 3
it.

3MYfe T g F1 31 WY sHe WA & fRt e fafy @ s S

17. When the price of a good falls from ¥ 20 per unit to ¥ 15 per unit, its quantity demanded 3
rises by 20 percent, calculate its price elasticity of demand.

9 TF T F FEA T 20 W T F w2 T 15 90 R At ¥ A Iwwt wi-mmn
20 S siedt ¥ 1 ST AT F HHT A" H gREeT wifed |

18. With the help of suitable example explain the meaning of “mixed income of self employed’. 3

TG IAE FI HErEa § il w g o’ w6 s wmems
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19.

20.

21.

22,

54/ ASS/4-318-A 7 ARIEERTETAE A ER D ¢ conta.

From the following data calculate marginal propensity to consume.

(@) Income 8000
(b) Autonomous consumption 1000
(c) Consumption expenditure 7000
frrforfan SFel | e ST Tafe w1 AR FI -
() S 8000
(b) T@EE (FER) 399 1000
(c) Sudm =F 7000

Explain how wealth is a determinant of propensity to consume.

wefa o gR S vgfa o1 fufie 87 wwemse

Define marginal utility. Explain the relationship between total utility and marginal
utility.

Hrar SyAifirar st it g e yHfiar SR S ST % dE Ty @ e
Eaised

Calculate arithmetic mean from the following data :

Class Frequency
0-20 +

20 - 40 12

40 - 60 14

60 - 80 10

frefafea sifwel | st qre &1 gfieher Hifa |
= e
0-20 4

20 - 40 12

40 - 60 14

60 - 80 10




23. Explain any four precautions that should be taken while estimating national income by 4

income method.

g fafy g U o™ # AT G T S WA Gl el 9R S i e

IS |

24. Explain any two measures to correct the situation of excess demand in an economy. 4

srefezrereen | T ey =) feufa %1 3t w01 & 5T o SUTdl &1 e S |

25. Complete the following table : 4
Output (units) Marginal cost Average cost
1 12 bl
2 10 e 5y
3 14 P
4 16 FRTTS
Trfafaa aifere #1 70 S
s (2) Hrr @ siraa @
1 12 g
2 10 1Y
3 14 4 gl
4 16 2 st
26. Explain the problem of ‘double coincidence of wants’ in the barter system. 4
g fafra gomelt # o1 aTelt Hies  savaswdr & e AN F TS WHIRT |
27. Describe the changes that will take place in the market in the following situations. 6

(a) situation of excess demand

(b) situation of excess supply

Frfafas frafadl & aom ® 29 o afted= ) &1 9o Fife

(a) T eTfeE =i feufa
(b) g emferer =t feufa
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28. Explain the law of variable proportions with help of marginal product schedule. 6
TF H SeE Aot Fi Herdal § Ui Tl % e @ e S|

29. Explain the basis of classifying : 6
(a) Taxes into direct and indirect tax

(b) Receipts into revenue receipts and capital receipts
frefafaa ot Ffiea FT F1 MYUR I9HET

(@) U H AN AR Ay = A

(b) i = erea Wt S geima wiftes §

30. From the following data, calculate ‘coefficient of correlation” between A and B 6
No. of items A=8
B=8

Arithmetic mean A =11

e=|

=10

3 (A —A)? =184

S (B; —-B)> =148

S(A; —A): 3 (B; —B) =164
frefafaa s & A 3iR B F 93 =1 Gedsy o MO FHife
73 @ Hem A=8

B=8

HEfordE 7B A =11

(A -A)P? =184
S (B; —B)* =148

S(A; —A)-2(B; —B) =164

54/ ASS/4-318-A] 9 MREINRAREE T WM 1 conta..




31. From the following data compute Paasche’s price index number for the current year.

P Base year Current year
Price | Quantity | Price | Quantity

A 2 12 10 16

B 4 14 8 14

& 6 16 6 12

D 8 18 4 10

frefafas sl @ v=foe o4 ¥ faw oW & Foa guwie 1 9iwa i

- MU Y efea ag
Had T Hd AT
A 2 12 10 16
B 4 14 8 14
C 6 16 6 12
D 8 18 4 10

32. Calculate net domestic product at market price from the following data :

()

Profit

Net factor income from abroad

Compensation of employees

Mixed income

Undistributed profit

Rent
Bonus

Net exports

Net indirect taxes

Depreciation

Interest
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(¥ in crores)
800
50
6000
8000
500
400
600
(~)50
. 700
300
350

6
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frefefaa simel @ a9R gou W e =i 3ams 1 Iiehed HIfT

(a) <H

(b) fasei & w5 9E 9=
(c) HH=IE 1 GIAHE
(d) fafga s

(e) sifeafia =

(f) e

()

(h) % fraf

(i) YUS AT W

G) TommEe

(k) =
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